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1. #HHEEA A= {1, 2, 3, 4, 5, 9}, B= {x | xt1eA} AN B= C )
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A —2 B.V2 C.2 D. -2
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A. 45 B.60° c.90° D.120°

4, EZEWEH { Yo, =34 q=3, FHEFIKE n A =40, n=( )
A3 B.4 C.5 D.6

5. DI y=2sin 3 +), WTUhRE FHILRIERKZ C )
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A. 12 B.-12 C.4 D. -4
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7. £ (0 =12 LA
8. CLHisin ¢ — ) =§, Njcos2 =
9. #HZ y=x+b 5[ x2+y2-2y-1=0 A%z, W b HHUE JE 2

10. BR¥L f(x)=sin —cos (xeR)FFI &/ IE & HAA
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13. 05 mE =3, 1), A& = (sin ,cos ), KR (x)=
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15. CLEIAABC H, A,B,C FrXt W 131 a,b,c, H a=v2,b=v/3,B=60".

(1) 3k ARIME.
(2) 3Rcos [MIMHE.



	二、填空题（共5小题，每小题6分，共计30分）
	三、解答题（共4小题，每小题10分，共计40分）

